

$$L_p = L_p(E)$$

...

...

$$L_p(E) \quad (1 < p < \infty).$$

$$L_\lambda \omega = \partial_{\bar{z}} \omega - q(z) \partial_z \omega + A(z) \omega + (B(z) + \lambda) \bar{\omega} = F(z), \quad \lambda \geq 0 \quad (1)$$

$$q(z) = \overline{q(z)}, \quad A(z) \quad B(z), \quad F(z)$$

$$L_p = L_p(E), \quad p \in (1, \infty), \quad (1)$$

$$[1]. \quad [2]$$

$$(1) \quad [1] \quad q(z).$$

$$[2]$$

$$(1),$$

$$L_p, \quad p \in (2, \infty).$$

$$\omega(z) \in L_p(E) \quad (1),$$

$$\{\omega_n(z)\}_{n=1}^\infty \subset C_0^\infty(E), \quad \|\omega_n - \omega\|_p \rightarrow 0,$$

$$\|L_\lambda \omega_n - F\|_p \rightarrow 0 \quad n \rightarrow \infty. \quad \|\cdot\|_p \quad L_p.$$

$$L_\lambda, \quad (1),$$

$C_0^\infty(E)$.

$L_p = L_p(E), 1 < p < \infty,$

L_λ .

1. $q(z) - \dots, (z),$
 $B(z) - \dots,$

$$a) \varepsilon \operatorname{Re} B(z) - 2 \left(|A(z)| + |(\operatorname{Re} q(z))_x| + |(\operatorname{Im} q(z))_x| + |(\operatorname{Re} q(z))_y| + |(\operatorname{Im} q(z))_y| \right) \geq \delta > 0, \quad 0 < \varepsilon < 1;$$

$$b) |\operatorname{Re} q(z)| + |\operatorname{Im} q(z)| \leq q_0 < 1;$$

$$c) \sup_{|z-t| \leq 1} \max \left\{ \left| \frac{B(z)}{B(t)} \right|, \left| \frac{\operatorname{Re} B(z)}{\operatorname{Re} B(t)} \right| \right\} \leq K, \quad K > 1;$$

$$d) |A(z) - A(t)| + |B(z) - B(t)| + |(\operatorname{Re} q(z))_x - (\operatorname{Re} q(t))_x| + |(\operatorname{Re} q(z))_y - (\operatorname{Re} q(t))_y| + |(\operatorname{Im} q(z))_x - (\operatorname{Im} q(t))_x| + |(\operatorname{Im} q(z))_y - (\operatorname{Im} q(t))_y| \leq \Xi |B(t)|^\alpha \cdot |z-t|^\beta, \quad t \in E,$$

$$|z-t| \leq 1, \beta \in (0,1], \alpha - \beta - 1 < 0, \quad (\operatorname{Re} q(z))_x, (\operatorname{Re} q(z))_y, (\operatorname{Im} q(z))_x, (\operatorname{Im} q(z))_y, \operatorname{Re} q(z), \operatorname{Im} q(z).$$

1.

$$\lambda_0 > 0, \quad \lambda \geq \lambda_0, \quad \omega(z) \in L_\lambda, \quad F(z) \in L_p \quad (1 < p < \infty), \quad (1)$$

$$\left\| \partial_{\bar{z}} \omega \right\|_{L_p} + \left\| q(\cdot) \partial_z \omega \right\|_{L_p} + \left\| A(\cdot) \omega \right\|_{L_p} + \left\| (\lambda + B(\cdot)) \bar{\omega} \right\|_{L_p} \leq C \|F\|_{L_p}. \quad (2)$$

[2].

2.

$$\lim_{|z| \rightarrow \infty} |B(z)| = \infty. \quad (3)$$

L_λ^{-1} ,

L_λ ,

L_p .

2

$L_\lambda^{-1} \quad (\lambda \geq \lambda_0)$

$$M = \left\{ \omega : \left\| \partial_{\bar{z}} \omega - q(\cdot) \partial_z \omega + A(\cdot) \omega + (B(\cdot) + \lambda) \bar{\omega} \right\|_{L_p} \leq T \right\}.$$

, $p \in (2, +\infty)$, $\lambda_0 - M$ 1.

$$d_k = \inf_{\{G_k\}} \sup_{u \in M} \inf_{v \in G_k} \|u - v\|_X, \quad k = 0, 1, 2, \dots,$$

G_k L_p k $N_p(\gamma)$
 d_k , $\gamma > 0$,

$$\dots N_p(\gamma) = \sum_{\{k: d_k > \gamma\}} 1.$$

$N_p(\gamma)$,

, L_λ^{-1} ()
).

4. $q(z)$, $A(z)$ $B(z)$
 3,

$$C_1 \gamma^{-2} \mu(z: |B(z)| \leq C_0^{-1} \gamma^{-1}) \leq N_p(\gamma) \leq C_2 \gamma^{-2} \mu(z: |B(z)| \leq C_0 \gamma^{-1}), \quad (4)$$

μ -

(4) γ
 $N_p(\gamma)$

p .

1. \dots , \dots

L_p //

, 2005, 3(39). -

11-17.

2. \dots , \dots

//

\vdots

, 2009. - 3. -

.72-83.

3. \dots , \dots

\vdots ,

1988.-286 .

©

-
, 2012